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Question

Assertion (A): NABARD was set up in 1982 to coordinate the activities of all institutions
involved in rural financing system.

Reason (R): Commercial banks and other financial institutions have failed to develop a culture
of deposit mobilization.

Choose the correct option for below given questions

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A). b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).

c) Assertion (A) is true, but Reason (R) is false.

d) Assertion (A) is false, but Reason (R) is true.

Assertion (A): IT can play a critical role in achieving sustainable development and food
security in 21t century.

Reason (R): Farmers are very keen to learn computer.

Choose the correct option for below given questions

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A). b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).

c) Assertion (A) is true, but Reason (R) is false.

d) Assertion (A) is false, but Reason (R) is true.
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3 Assertion (A): TheSHGs promote thrift in small proportions by a minimum contribution from
each member. .

Reason (R): Macro credit refers to credit and other financial services provided to the poor
through SHG s.

Choose the correct option for below given questions

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
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Assertion (A). b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).
c) Assertion (A) is true, but Reason (R) is false.

d) Assertion (A) is false, but Reason (R) is true.

4 Assertion (A): The diversification has a positive impact on the agriculture sector.

Reason (R): As it can disseminate formation regarding emerging Technologies and its
applications, prices, weather and soil conditions for growing different crops etc.
Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of
Assertion (A)

(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

5 Assertion (A): The yields from organic farming are more than modern agricultural farming.
Reason (R): The yields from organic farming are less than modern agricultural farming in the
initial years.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of
Assertion (A)

(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

6 Assertion (A): Even today more than 10% of goods produced in farms are wasted.

Reason (R): The current storage facilities are quite inadequate to meet the growing demands.
Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of
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Assertion (A)
(C) Assertion (A) is true but Reason (R) is false
(D) Assertion (A) is false but Reason (R) is true.

Assertion (A): agriculture loan default rates have been chronically high.

Reason (R): It is alleged that farmers are deliberately refusing to pay back loans.
Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of
Assertion (A)

(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true.

Assertion (A): The fishing community regards the water body as mother or provider.

Reason (R): Because the water bodies (sea, Ocean, rivers, lakes, natural aquatic ponds etc.) are
integral and life- giving source for the fishing community.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of
Assertion (A)

(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

1. Assertion: Rural development is comprehensive term which essentially focuses on the action of
overall development of rural areas.

Reason: It is required to develop the standard of living of rural people.
A. Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of

assertion (A)

B. Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation of
assertion (A)

C. Assertion (A) is true but Reason (R) is false

D. Assertion (A) is false but Reason (R) is true

10

2. Assertion: Use of HYV seeds was done by the farmers

Reason: It was one of the reforms under NEP.
A. Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
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assertion (A)
B. Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation of
assertion (A)
C. Assertion (A) is true but Reason (R) is false
Assertion (A) is false but Reason (R) is true

11

3. Assertion: Diversification of crops shifted from single cropping system to multiple cropping.

Reason: It increases the risk of market arises due to price fluctuations.

A. Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

B. Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation of
assertion (A)

C. Assertion (A) is true but Reason (R) is false

D. Assertion (A) is false but Reason (R) is true

12

4. Assertion: Role of Information technology was essential in rural sector.

Reason: Farmers were interested in learning computers.

A. Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

B. Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation of
assertion (A)

C. Assertion (A) is true but Reason (R) is false

D. Assertion (A) is false but Reason (R) is true

13

Read the Assertion (A) and Reason (R) and choose the correctalternative: -
Assertion (A) :- Rural development includes only agricultural development
Reason (R) :- Rural development aims at improving the economic and social conditions of people living
in village
Alternatives:
a) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation of A
b) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of A
c) Assertion (A) is true and Reason (R) is false
d) Assertion (A) is false and Reason (R) is true

14

Read the Assertion (A) and Reason (R) and choose the correct alternative:-
Assertion (A) :- The focus of self help group is largely on the rural poor.
Reason (R) :- Rural poor have no sustainable access to formal banking system
Alternatives:
e) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation of A
f) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of A
g) Assertion (A) is true and Reason (R) is false
h) Assertion (A) is false and Reason (R) is true

15

Read the Assertion (A) and Reason (R) and choose the correct alternative:-

Assertion (A) :- India ranks first in world in milk production

Reason (R) :- India’s milk production increased due to operation flood.

Alternatives:
i) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation of A
j) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of A
k) Assertion (A) is true and Reason (R) is false
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I) Assertion (A) is false and Reason (R) is true

16 Read the Assertion (A) and Reason (R) and choose the correct alternative:-
Assertion (A) :- Indian government took various measures to improve agricultural marketing.
Reason (R) :- Farmers were often forced to sell at low prices due to lack of required market
information.
Alternatives:
m) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation of A
n) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of A
o) Assertion (A) is true and Reason (R) is false
p) Assertion (A) is false and Reason (R) is true
17 Read the Assertion (A) and Reason (R) and choose the correct alternative:-
Assertion (A) :- Diversification of crop production lead to shift from single cropping system to multi
cropping system
Reason (R) :- It reduced the income of farmers due to increase in market risk because of price
fluctuation.
Alternatives:
g) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation of A
r) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct explanation of A
s) Assertion (A) is true and Reason (R) is false
t) Assertion (A) is false and Reason (R) is true
18 | Assertion:Cooperative marketing is a significant progressive step in the context of the
agricultural market system.
Reason: Milk cooperative in Gujarat is a brilliant example of cooperative marketing in rural
India.
(A) Both Assertion and reason are true and reason is correct explanation of assertion.
(B) Assertion and reason both are true but reason is not the correct explanation of assertion.
(C) Assertion is true, reason is false.
(D) Assertion is false, reason is true.
19
Assertion: Minimum support price purchases from the farmers are kept as buffer stocks by the
government.
Reason: Public distribution system implies distribution of food grains through fair price shops
at subsidized rates.
(A) Both Assertion and reason are true and reason is correct explanation of assertion.
(B) Assertion and reason both are true but reason is not the correct explanation of assertion.
(C) Assertion is true, reason is false.
(D) Assertion is false, reason is true.
20

Assertion:Measures were taken by the government to improve agricultural marketing.
Reason: Farmers while selling the product were not earning profits.

(A) Both Assertion and reason are true and reason is correct explanation of assertion.
(B) Assertion and reason both are true but reason is not the correct explanation of assertion.
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(C) Assertion is true, reason is false.
(D) Assertion is false, reason is true.
21 Assertion: Use of HY'V seeds was done by the farmers.
Reason: It was one of the reforms under NEP.
(A) Both Assertion and reason are true and reason is correct explanation of assertion.
(B) Assertion and reason both are true but reason is not the correct explanation of assertion.
(C) Assertion is true, reason is false.
(D) Assertion is false, reason is true.
22 Assertion:Rural development is essential for Indian economic development.
Reason: Rural development creates opportunities in rural areas for education.
(A) Both Assertion and reason are true and reason is correct explanation of assertion.
(B) Assertion and reason both are true but reason is not the correct explanation of assertion.
(C) Assertion is true, reason is false.
(D) Assertion is false, reason is true.
ANSWER
1-B 2-C 3-C 4-A 5-D 6-B 7-A 8-A 9-A 10-C
11-C 12-C 13-D 14-A 15-A 16-A 17-C 18-A 19-B 20-A
21-C 22-A
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